System Properties:
1. Determineif the following systems are time-invariant, linear, causal, and/or memoryless?

a) 3—3{ + By(t) = 4x(t)

b) % +4ty(t) = 2x(1)

¢ yinl+2y[n-1=xn+1]
Ay = sin(x()

9 3—{+y2(t):x<t>

f) yin+11+4y[n] = 3n +1 - x[r]

_
g y(t)= i +X(t)

h) yln] = x[2n]

i) yin] = nx[2n]

Lody _

j) E+Sm(t)y(t) =4x(1)

d2y dy dx
K) — +10— +4y(t) =— + 4x(t
) oz P0G HAYD = X

2. Theresponse of an LTI system to astep input, x(t) = u(t) is y(t) = (1-€?)u(t). What isthe response to
an input of x(t) = 4u(t)-4u(t-1)?



